- ELEMENT TIE-DOWN

/— 40m ELEMENT

69
RS
~ Q‘

~
~
N
\/

Q \

45'-11"

57'-3" /

ELEMENT TIE-DOWN

75m ELEMENT *\

BRASS %," BOLT
W/ JAM NUTS AND WASHERS

\ 40m DRIVEN

ELEMENT

75m DRIVEN
ELEMENT

BRASS %" BOLT
W/ JAM NUTS AND

TOP INSULATOR WASHERS (TYP)

ASSEMBLY
40m GROUND N ] 75m GROUND
ELEMENT ELEMENT

B
v

DUAL GUY ROPE (TYP)

Q/\ ANTENNA

SECTION

ANTENNA TOP ASSEMBLY

6 MAST SECTIONS
1 ANTENNA SECTION

TENT STAKE MAST
75m ELEMENT
TENT STAKE (TYP)
N 40m ELEMENT
o —— ELEMENT TIE-DOWN
/— TENT STAKE
PLAN VIEW 6‘5’6‘

75m ELEMENT

\z
e

INSULATOR
ELEMENT TIE-DOWN

ORANGE GUY (TYP)

6.
6.\90 Q‘Q
] (%) 0
‘/ %:
= o
=
O
©N

INSULATOR

ELEMENT TIE-DOWN

TENT STAKE

~=—— 4 SECTIONS

NOTES:

1. ADD 12 INCHES TO THE DIPOLE ELEMENT
LENGTH TO ALLOW FOR TUNING THE DIPOLE
ANTENNAS.

OPTIONAL 60M ANTENNA:

60m ELEMENT LENGTH IS 44'-3" AND ELEMENT
TIE-DOWN LENGTH IS 15'-11", INCLUDED ANGLE
IS 111.2 DEG.

EZNEC MODEL IS: SWR 1.13:1, BEAM WIDTH 85.4
DEG., GAIN AT 90 DEG. IS 7.8 dB, GAIN AT 50 DEG.
IS 6.2 dB.

40m ELEMENT

TENT STAKE

\ TENT STAKE

45'-11"

|

ﬁ\
BASE STAKE

HALF SECTION

K4BJS PORTABLE NVIS ANTENNA

MULTI-STAGE IMPROVEMENT
DUAL BAND INVERTED "V"



21-8 1/2" —

A

NOTES:
- 15'-9"
TYPE Il PARACORD
ON CENTERLINE " 1. ELEMENT TIE DOWN ASSEMBLY
\ @ 5/32" HOLE TENT MARKER BEAD MEASUREMENT:
@ 5/32" HOLE / STAKE 75m: 57'-3"
LOOP 40m: 45'-11"
BOWLINE 4" ZIP-TIE
KNOT MARKER MEASURED FROM END OF ANTENNA
%" SNAP HOOK MARKER BEAD 1-6" WIRE TO MARKER BEAD.
o COMMERCIAL
@?CH“O PVC CORD TENSIONER 2. TYPE | PARACORD, 95 LBS WORKING
2
GUY ROPE ASSEMBLY LIMIT.
ROPE TENSIONER 3 REQUIRED 3. TYPE Il PARACORD, 275 LBS WORKING
LIMIT.
4 REQUIRED
. 1/4"
@3/16"
CEMENTED JOINT 72"% A" ALUMINUM BAR
BOTH ENDS
%" DIA ALUMINUM
f— -+ RIVET (TYP)
/ Qj ““““““““““““““““
¥
\\\I _______________________________________ ]
T % " DRAIN
HOLE X2
— 1/4"
%"CPVCx3%" N P
%" CPVC END CAP 5 SLIT (TYP)
— 1/2" |—-— Tl g 11/8" fa—
ANTENNA END INSULATOR * ‘
4 REQUIRED J-HOOK I > )
8 REQUIRED * ! 3
N . 1/ ~~— cut
75m: 47 1/2" ¢ ™~ &,
DIPOLE ELEMENT 40m: 21-1 172" A . N
W/ 12" TUNING Je11 | %
— SEGMENT . < - TYPE | PARACORD 4" G
>‘ TENT O 4 —
STAKE
LOOP GUY ROPE WINDER

.. 3 REQUIRED
75M MARKER 4" ZIP-TIE
BEAD AR . MARKER MATL: 1/16" THICK WOOD OR PLASTIC
8" ZIP TIE (TYP) 40M MARKER BEAD
ANTENNA END INSULATOR GUY ROPE TENSIONER
ELEMENT TIE-DOWN ASSEMBLY
K4BJS PORTABLE NVIS ANTENNA
2 OF EACH BAND REQUIRED MULTI-STAGE IMPROVEMENT

DUAL BAND INVERTED "V"



TOP INSULATOR ASSEMBLY 3X %" RIVET (TYP)

SEE ANTENNA SECTION DETAIL J-HOOK. SPACED @ 90° (TYP) 6" -
4" TO FIT BOLTS INTO PVC PIPE ,/— 1% " x 3-11 %" SCH40 PVC PIPE i ’ \C 4>‘ 31/2" |——-—
|

/-F é__ ________________________________________________________
io|” wea oo A A
k= == i <Z( z
D, C SEE
3/32" SLOT qUEJ (E
#8 SHEET METAL SCREW 4 @ 90° HOSE CLAMP 1 <n
< i4'—0“ >
ANTENNA SECTION
CABLE-TIE
1 REQUIRED OR GEAR-TIE Ty
BRASS 1/4-20 x 1" BOLT 90° BRASS 1/4" )
TOP INSULATOR W/ 2 BRASS JAM NUTS |APART [ ] @
WASHER (TYP) h
ASSEMBLY AND 3 WASHERS ] BRASS @ 9
0 © BRASS 1/4-20 NUT - +
: . 5 5 (TYP) GUY RING o
© Te) n
BRASS 1/4-20 x 1" 0 S BRASS 1/4-20x 1" BOL T WASHER e -
BOLT W/ 2 BRASS o o - W/ 2 BRASS JAM NUTS ‘ CABLE-TIE — | x
JAM NUTS AND ™ AND 3 WASHERS @ 90° P 1/2" SLOT FOR BRASS OR GEAR-TIE a
3 WASHERS | l | IJ:fr 1/4-20 BOLT HEAD 2
#8 SHEET ' ) 14 AWG z
H40 1 1/2" —+ =
METAL SOREW SCH4011/ I | BRASS TERMINAL =
PVC CAP | | . LUG m
4 @ 90° ~_ 1/4-20 x 1 z
4 HOLES @ 90° J\/O ANTENNA SECTION BOLT ANTENNA s
ANTENNA SECTION o SCHa0 L 1zmPve PVC CAP WIRE crBlETE ~ | 2
PVC CAP NEEDS TO BE A LOOSE FIT ON PIPE, SAND PAPER OR GEAR-TIE >
TOP VIEW INSIDE TO REMOVE SOME MATERIAL ANTENNA SECTION DETAIL FEED POINT DETAIL -+ 2
—_— <
3 REQUIRED ©
TOP INSULATOR DETAIL
1 REQUIRED
UHF COUPLER ADAPTER 1
PL-259 CONNECTOR CABLE-TIE
40" FEEDLINE PIGTAIL OR GEAR-TIE
1/4" CABLE CLAMP BASE
SPLICE FEEDLINE CONDUCTOR TO CENTER ) '
BOLT AND SHIELD TO SIDE BOLTS 11/32" SLOTTED HOLE 1-8 — !
(ROUND EDGES)
3 k ( MAST ASSEMBLY
- (V0 — V0 — — — — — — — — — — - e e e e e
A e B e e S e e o e e s e e k8

18 - FERRITE BEADS, FAIR-RITE \ FEEDLINE PIGTAIL
# 2631540002 OR EQUAL

NOTE: ASSEMBLE FEEDLINE AND TOP INSULATOR WITHOUT PL-259 CONNECTOR, THEN INSERT IT INSIDE PVC PIPE AND INSTALL PL-259 CONNECTOR

FEED LINE DETAIL K4BJS PORTABLE NVIS ANTENNA

MULTI-STAGE IMPROVEMENT
DUAL BAND INVERTED "V"




TENT STAKE ANTENNA ERECTED

i
MAST
40m GROUND ELEMENT —~ - N
. N\
/ AN
, ORANGE GUY \
FRONT GUY ROPE (3) \
/
/
) TENT STAKE (3)
/
, SWIVEL STAKE
/
/
/ N
;" FRONT GUY STAKE <
y o> FEED LINE
/
/

FRONT 40M
BAND TENT

STAKE

DANGER

WATCH FOR OVERHEAD WIRES. NEVER ERECT
ANTENNA DIRECTLY UNDER POWERLINES

FIGURE 1

TOOLS:
1. HAMMER
2. SURVEYOR FLAGGING

REAR 40M BAND
TENT STAKE T

GUY RING

.

40M HOT ELEMENT

7 SECTIONS (26'-6")

4 SECTIONS

TENT
STAKE

75M GROUND
ELEMENT I - 150"
ANTENNA MAST CONFIGURATION

\ <)
. &

B e
> >
\ P s
o
AN <
\ //75|v| V/

A Lﬁ 57-3 1/2" L

>
k=
= 75M

57-3 1/2" 44

~—f45m11" "

s
s

45-11" A
\\

40M

TENT STAKE

-

SITE LAYOUT

K4BJS PORTABLE NVIS ANTENNA

MULTI-STAGE IMPROVEMENT
DUAL BAND INVERTED "V"



INF

HALFWAVE MEASURED FREQUENCY CONSTANTS: WAVE LENGTH HEIGHT
AOM oo 462 (462/7.24 = 63-10") A0M....o. 0.20
10 T5M oo 456.9 (456.9/3.905 = 117"-0") 60M..ceorrerr 0.15
T5Merrerreee.. 0.11
5
SWR MEASURED SWR:
7243 oo 1.08:1
3 3.905 oo 1.18:1
3795 oo 2:1
3.950 oo 1.42:1
4.000 oo 1.9:1

1.5
X
1.1
’ ]
3.5 4 Freq MHz 7 7.25 8
X MEASURED
@® MODELED
SWR PLOT
INVERTED m V 3.95 MHz
Azimuth Plot Cursor Az 90.0 deg.
Elevation Angle 66.0 deg. Gain 6.11 dBref
Outer Ring 10.0 dBref 0.0 dBmax
INVERTED m V 3.95 MHz Slice Max Gain  6.11 dBref @ Az Angle = 90.0 deg.

Front/Side 0.16 dB

Elevation Plot Cursor Elev  66.0 deg. Beamwidth ?

Azimuth Angle 0.0 deg. Gain 5.95 dBref Sidelobe Gain  6.11 dBref @ Az Angle = 270.0 deg.

Outer Ring 10.0 dBref -0.78 dBmax Front/Sidelobe 0.0 dB

Slice Max Gain  6.73 dBref @ Elev Angle = 90.0 deg. AZIMUTH PLOT

Beamwidth 98.4 deg.; -3dB @ 40.8, 139.2 deg.

Sidelobe Gain < -100 dBi

Front/Sidelobe > 100 dB K4BJS PORTABLE NVIS ANTENNA

ELEVATION PLOT MULTI-STAGE IMPROVEMENT

DUAL BAND INVERTED "V"



